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1 DarwinPlateau

Model Gauss (User)

2 if (((x-xl)/wl) <-1)
y=A*(1-(1-1/(((x-x)/w)*2) )*0,5)) +y0 + A
_g*exp(-0.5%((x-xc_g)/w_g)"2);

}
else
{
if (((X-xl-w)/wr) > 1)
y=A*(1- (1 - 2/((x-xI-w)/wr)*2) )(0,5)) + yO +
A_g*exp(-0.5*((x-xc_g)/w_g)"2);
}
else
{ A+y0+A 0.5 / N2
= + + * -0. * _ ’
Equation = A*Y0+ A grerpt0 5 (bexo_g)w o2
}
3 | Reduced 21356.70774
Chi-Sqgr

4| Adj. R-Square 0.68142

5 Value Standard Error

6 A 291.84001 20.21462

7 y0 778.54683 10.77945

8 x| -908.08247 4.33001

9 w 179.66439 286.18047

10 | t-ellabt wi 5.11329 2.54338
11 wr 0.06208 22.47206
12 Ag 955.65508 50.93854
13 XC_g -963.63804 1.3116
14 w_g 19.10927 1.37682




